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BKANERICE T AR IRERELR

A JEk O 2-3-1

SIERE
I I AER(TATOY—AEBR) | e e
5cm 50c¢m 100c¢m

Ot ER (L) 0.07 0.07 — PA-1000
OB ERIGFT1 0.14 0.13 — PA-1000
QR BERED 0.06 0.07 — PA-1000
@R ERED 0.07 0.08 — PA-1000

3/20K) BN |OREEILER 0.08 0.08 — PA-1000
@ EREED 0.08 0.07 — PA-1000
DBZIHm2 0.08 0.08 — PA-1000
@fliE L 0.05 0.06 — PA-1000
iz 0.07 0.07 — PA-1000
Ot ER (1) 0.07 0.06 — PA-1000
QIEERIZAT 1 0.12 0.10 — PA-1000
QK ERED 0.06 0.06 — PA-1000
DR BERED 0.09 0.08 — PA-1000

96(A)EY |OKEILER 0.08 0.06 — PA-1000
O BETEED 0.07 0.06 — PA-1000
DB G2 0.08 0.08 — PA-1000
@fliEL 0.06 0.05 — PA-1000
ibis 0.07 0.06 — PA-1000

2/24 (784)



BKANERICE T AR IRERELR

A JEk O 2-3-1

2B
I I AER(TATOY—AEBR) | e e
5cm 50c¢m 100c¢m

Ot ER (L) 0.08 0.08 — PA-1000
OB ERIGFT1 0.08 0.09 — PA-1000
QR BERED 0.10 0.08 — PA-1000
@R ERED 0.08 0.08 — PA-1000

2/5(®)BEN  |OKREILED 0.06 0.06 — PA-1000
@ EREED 0.07 0.07 — PA-1000
DBZIHm2 0.08 0.09 — PA-1000
@fliE L 0.06 0.07 — PA-1000
iz 0.06 0.07 — PA-1000
Ot ER (1) 0.07 0.07 — PA-1000
QIEERIZAT 1 0.07 0.07 — PA-1000
QK ERED 0.07 0.07 — PA-1000
DR BERED 0.06 0.06 — PA-1000

8/1(&)EN |OKEILER 0.06 0.06 — PA-1000
O BETEED 0.07 0.08 — PA-1000
DB G2 0.06 0.07 — PA-1000
@fliEL 0.05 0.07 — PA-1000
ibis 0.06 0.06 — PA-1000

3/24 (784)



BKANERICE T AR IRERELR

A JEk O 2-3-1

TR
I I AER(TATOY—AEBR) | e e
5cm 50c¢m 100c¢m

Ot ER (L) 0.08 0.08 — PA-1000
OB ERIGFT1 0.07 0.08 — PA-1000
QR BERED 0.07 0.07 — PA-1000
@R ERED 0.08 0.09 — PA-1000

2/71(®)BEN  |OKREILED 0.08 0.07 — PA-1000
@ EREED 0.08 0.08 — PA-1000
DBZIHm2 0.08 0.08 — PA-1000
@fliE L 0.07 0.08 — PA-1000
iz 0.07 0.07 — PA-1000
Ot ER (1) 0.07 0.08 — PA-1000
QIBEXIHAT 1 0.13 0.11 — PA-1000
QK ERED 0.05 0.05 — PA-1000
DR BERED 0.09 0.08 — PA-1000

8/5(A)EN |OKEILER 0.07 0.08 — PA-1000
O BETEED 0.07 0.07 — PA-1000
DB G2 0.08 0.08 — PA-1000
@fliEL 0.06 0.06 — PA-1000
i 0.06 0.07 — PA-1000

4/24 (F54)



BKANERICE T AR IRERELR

A JEk O 2-3-1

T RR304EBE
I I AER(TATOY—AEBR) | e e
5cm 50c¢m 100c¢m

Ot ER (L) 0.07 0.07 — PA-1000
OB ERIGFT1 0.06 0.07 — PA-1000
QR BERED 0.06 0.07 — PA-1000
@R ERED 0.08 0.10 — PA-1000

2/1(K)EY  |OKEILED 0.07 0.08 — PA-1000
@ EREED 0.07 0.08 — PA-1000
DBZIHm2 0.08 0.08 — PA-1000
@fliE L 0.06 0.06 — PA-1000
iz 0.08 0.09 — PA-1000
Ot ER (1) 0.07 0.07 — PA-1000
QIBEXIHAT 1 0.06 0.08 — PA-1000
QK ERED 0.05 0.06 — PA-1000
DR BERED 0.07 0.08 — PA-1000

8/7CK)EY  |OKEILER 0.07 0.07 — PA-1000
O BETEED 0.08 0.08 — PA-1000
DB G2 0.07 0.09 — PA-1000
@fliEL 0.06 0.06 — PA-1000
i 0.06 0.07 — PA-1000

5/24 (784)



BKANERICE T AR IRERELR

A JEk O 2-3-1

FRR294E B
I I AER(TATOY—AEBR) | e e
5cm 50c¢m 100c¢m

Ot ER (L) 0.07 0.08 — PA-1000
OB ERIGFT1 0.06 0.07 — PA-1000
QR BERED 0.07 0.07 — PA-1000
@R ERED 0.11 0.11 — PA-1000

2/1(K)EY  |OKEILED 0.07 0.08 — PA-1000
@ EREED 0.08 0.09 — PA-1000
DBZIHm2 0.08 0.08 — PA-1000
@fliE L 0.06 0.08 — PA-1000
iz 0.08 0.09 — PA-1000
Ot ER (1) 0.07 0.08 — PA-1000
QIEERIZAT 1 0.06 0.08 — PA-1000
QK ERED 0.06 0.07 — PA-1000
DR BERED 0.07 0.07 — PA-1000

8/8(K)EY |OKEILER 0.07 0.07 — PA-1000
O BETEED 0.07 0.08 — PA-1000
DB G2 0.06 0.08 — PA-1000
@fliEL 0.07 0.08 — PA-1000
ibis 0.07 0.08 — PA-1000

6/24 (784)



BKANERICE T AR IRERELR

A JEk O 2-3-1

R 284E B
AEE X AEA ARRATRY—ZIER) | piesg %
5cm 50c¢m 100c¢m

Ot ER (L) 0.07 0.08 — PA-1000
OB ERIGFT1 0.08 0.08 — PA-1000
QR BERED 0.10 0.10 — PA-1000
@R ERED 0.06 0.07 — PA-1000

210N |OKREILER 0.09 0.09 — PA-1000
@ EREED 0.07 0.08 — PA-1000
DBZIHm2 0.09 0.10 — PA-1000
®fliEL 0.09 0.09 — PA-1000 FR2952 AAIEMN DB
iz 0.07 0.08 — PA-1000
Ot ER (1) 0.06 0.08 — PA-1000
QIEERIZAT 1 0.05 0.06 — PA-1000
QK ERED 0.05 0.07 — PA-1000

8/5(8) DR BERED 0.07 0.10 — PA-1000
OREILER 0.06 0.06 — PA-1000
O BETEED 0.07 0.09 — PA-1000
DB G2 0.08 0.09 — PA-1000
Wiz 0.04 0.06 — PA-1000
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BKANERICE T AR IRERELR

A JEk O 2-3-1

FRR2TEERE

R — BIEE (R0 —NLNER)

BIE R - KB AI5E Hh 5 - AlEE e

5cm 50¢m 100c¢m
Ot ehnER (L) 0.06 0.07 — PA-1000
QBRI 1 0.05 0.07 — PA-1000
QR RERFER 0.05 0.07 — PA-1000
RERE 0.09 0.12 — PA-1000

sy h | DR
OREEALER 0.07 0.09 — PA-1000
O EMmER 0.10 0.10 — PA-1000
DIRERIZAT 2 0.07 0.09 — PA-1000
5 0.08 0.09 — PA-1000
Ot ehLER (L) 0.07 0.08 — PA-1000
QBRI 1 0.06 0.06 — PA-1000
QR RERFER 0.07 0.07 — PA-1000

SERY 0.10 . — -

8/10(8) B @*:«rﬁiurs 0.10 PA-1000
OREEALER 0.08 0.08 — PA-1000
@®RREEFER 0.09 0.10 — PA-1000
DIBERIZAT2 0.08 0.09 — PA-1000
b5 0.08 0.09 — PA-1000
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BKANERICE T AR IRERELR

A JEk O 2-3-1

S Ri264F B _ i i
BB KIE 7 b 5 RIER (Y478 T IRBR) | g =
Ot E (1) 0.08 0.08 — PA-1000
QIR ERIZFT 1 0.08 0.08 — PA-1000
O 0.09 0.08 — PA-1000
- @R FERED 0.10 0.12 — PA-1000
ORI o R 0.10 0.09 — PA-1000
O EFEED 0.11 0.09 — PA-1000
DIRERIZFT2 0.05 0.06 — PA-1000
fibis 0.08 0.08 — PA-1000
Ot b ER (1) 0.09 0.07 — PA-1000
QIR ERI5FT 1 0.08 0.07 — PA-1000
O 0.08 0.07 — PA-1000
" O EES: 0.13 0.11 — PA-1000
AR | S e as 0.08 0.08 — PA-1000
O EFEED 0.09 0.08 — PA-1000
DB IZFT2 0.06 0.06 — PA-1000
fibis 0.11 0.08 — PA-1000
Ot ER (1) 0.08 0.08 — PA-1000
QIR ERI5 T 1 0.08 0.08 — PA-1000
O 0.07 0.08 — PA-1000
- @R ERED 0.16 0.17 — PA-1000
SERBN SRR 0.10 0.11 — PA-1000
@REMER 0.08 0.09 — PA-1000
DB IZFT2 0.06 0.09 — PA-1000
ibi5 0.09 0.08 — PA-1000
O LY ES) 0.09 0.08 — PA-1000
QIR IZFT 1 0.06 0.06 — PA-1000
QX EEFIER 0.10 0.08 — PA-1000
- @R ERED 0.17 0.15 — PA-1000
VEREN R 0.12 0.10 — PA-1000
@R FETER 0.09 0.09 — PA-1000
DIBRIZFT2 0.08 0.09 — PA-1000
fibis 0.09 0.08 — PA-1000
9/24 (754)



AKAPERIZE T HBEHRE R EFR

A JEk O 2-3-1

TRk 255 F
AER X A AERATALZMEER) | g s
5cm 50cm 100cm
DEgithdilER (L) 0. 07 0.10 — PA-1000
OB ERIGFT1 0.10 0.13 — PA-1000
QR ErRED 0. 07 0.08 — PA-1000
310(8) |OBRERE 0.12 0.19 — PA-1000
A GREEILE 0. 08 0. 11 — PA-1000
@ EREED 0.08 0. 11 — PA-1000
DB 52 0. 05 0.08 — PA-1000
15 0.10 0.12 — PA-1000
Ot ER (1) 0.07 0.10 — PA-1000
QBRI 1 0.06 0.08 — PA-1000
QR ERED 0.07 0.09 — PA-1000
2/7(%) @R ERED 0.13 0.16 — PA-1000
A E#2BEL £ 0.07 0.10 — PA-1000
CRETEED 0.09 0.09 — PA-1000
DIEERIHA2 0.12 0.11 — PA-1000
15 0.09 0.11 — PA-1000
Ot ER (1) 0.09 0.09 — PA-1000
OB ERISFT1 0.07 0.08 — PA-1000
. QK ERED 0.10 0.09 — PA-1000
fiﬁti?iﬁ) @ RER S 0.13 0.19 — PA-1000 1/15(7K) I
Eh GBBEIL AR 0.13 0.13 — PA-1000
©RBEFEED 0.12 0.11 — PA-1000
DIEERIZFT2 0.11 0.13 — PA-1000 1/15(K) BI%E
15 0.11 0.11 — PA-1000
10/24 (754)



AKAPERIZE T HBEHRE R EFR

A JEk O 2-3-1

TRk 255 F
AER X A AERATALZMEER) | g s
5cm 50¢cm 100cm
Ot h i ER (1) 0.08 0. 11 — PA-1000
QIR IZFT 1 0. 05 0.08 — PA-1000
QR ErBD 0. 08 0. 09 — PA-1000
12/5(K) |ORERE 0.13 0.18 — PA-1000
En ORI E 0. 08 0. 11 — PA-1000
®EEED 0. 09 0.12 — PA-1000
DIREZIGFT2 0.12 0.13 — PA-1000
ibi5 0. 09 0. 11 — PA-1000
Ot L ER (1) 0. 08 0. 09 — PA-1000
QR ERIZFT 1 0.12 0.12 — PA-1000
QR ERBH 0. 08 0. 09 — PA-1000
11.11(B) |ORERE 0.18 0.18 — PA-1000
Ah Ot REILER 0. 09 0. 09 — PA-1000
CRETEED 0. 11 0.10 — PA-1000
DIBEERIZFT2 0. 09 0. 11 — PA-1000
ibi5 0.12 0. 11 — PA-1000
Ot ER (1) 0. 07 0.10 — PA-1000
OB ERISFT1 0. 05 0. 07 — PA-1000
QR EREH 0. 06 0. 09 — PA-1000
10/78(k) |DRERED 0.12 0.16 — PA-1000
A EREEILED 0. 07 0. 10 — PA-1000
@R ERMED 0. 08 0.10 — PA-1000
DIEERIZFT2 0. 11 0.13 — PA-1000
15 0. 08 0.12 — PA-1000
11/24 (754)



AKAPERIZE T HBEHRE R EFR

A JEk O 2-3-1

5 25 BE
B E - X 545 ARE(RATAZ—ANEER) | gy s
5cm 50cm 100cm
gt ER (1) 0. 09 0.10 — PA-1000
OB ERIGFT1 0.15 0.15 — PA-1000
QR ErRED 0.08 0. 09 — PA-1000
9/11(k) |DBRERE 0.10 0. 11 — PA-1000
gY OREEILED 0. 11 0. 10 — PA-1000
@ EREED 0. 11 0. 11 — PA-1000
DB 52 0. 07 0. 07 — PA-1000
15 0. 08 0. 06 — PA-1000
Ot ER (1) 0. 08 0.10 — PA-1000
QBRI 1 0. 05 0. 09 — PA-1000
QR ERED 0. 08 0.10 — PA-1000
8./9(%) DR BERED 0.16 0. 20 — PA-1000
A E#2BEL £ 0. 07 0. 09 — PA-1000
@RERS 0. 08 0. 11 — PA-1000
DB 52 0. 07 0. 11 — PA-1000
15 0. 09 0. 11 — PA-1000
Ot ER (1) 0. 10 0.10 — PA-1000
QIBERIZFR 1 0.16 0. 08 — PA-1000
QK ERED 0.08 0. 08 — PA-1000
7/8(R) DR ERER 0.18 0.18 — PA-1000
A ERBEL 5 0. 11 0.12 — PA-1000
©RBEFEED 0.16 0.13 — PA-1000
DIBERIHAT2 0.10 0. 11 — PA-1000
15 0.12 0. 11 — PA-1000
12/24 (754)



AKAPERIZE T HBEHRE R EFR

A JEk O 2-3-1

5 25 BE
AER X A AERATALZMEER) | g s
5cm 50¢cm 100cm
Ot h i ER (1) 0.08 0.10 — PA-1000
QIR IZFT 1 0. 06 0.08 — PA-1000
QR ErBD 0. 07 0. 09 — PA-1000
6./6(K) DR BERED 0.13 0.15 — PA-1000
L ORI E 0. 11 0 12 — PA-1000
®EEED 0. 09 0. 11 — PA-1000
DIBERIZEFT2 0. 07 0.10 — PA-1000
ibi5 0. 10 0.13 — PA-1000
Ot L ER (1) 0. 09 0. 09 — PA-1000
QR ERIZFT 1 0.08 0. 09 — PA-1000
QR ERBH 0. 09 0. 09 — PA-1000
5,22 (K) @R ERED 0.15 0.17 — PA-1000
Lrgt Ot REILER 0. 08 0.10 — PA-1000
CRETEED 0.10 0. 11 — PA-1000
DIBEERIZFT2 0. 06 0. 08 — PA-1000
ibi5 0. 11 0.12 — PA-1000
Ot ER (1) 0. 09 0.10 — PA-1000
OB ERISFT1 0.16 0.14 — PA-1000
QR EREH 0. 08 0. 09 — PA-1000
4,19(%) |OKRERE 0.16 0.18 — PA-1000
&Y EREEILED 0. 11 0. 11 — PA-1000
@R ERMED 0.13 0.14 — PA-1000
DIEERIZFT2 0. 06 0. 09 — PA-1000
15 0.12 0.13 — PA-1000
13/24 (754)
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[EAvA=ZN AR
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BKANERICE T HBSIRERERLR

ek : ;F/K A 2-3-1

S R24E B =T ==
Bl == Hil == B[ S —N D Bl ==
AT H - X2 IR 5 ACRINATH —SVEBR)_ | gz fEx
1FENRIZE (B M) — 0. 09 0. 09 PA-1000
= FEE(BA) — 0. 08 0. 08 PA-1000
=l
314K =Y IFHE(EA) — 0. 09 0. 09 PA-1000
ARBEERN) — 0. 07 0. 07 PA-1000
Ot hLER (1) 0. 11 0. 11 — PA-1000
Q15 0.12 0. 14 — PA-1000
=, |OKEREER 0. 11 0. 09 — PA-1000
SANR) B e 0. 23 0. 23 — PA-1000
GOREILER 0.12 0.12 — PA-1000
O 0.14 0.12 — PA-1000
IFRE=E(BRN) — 0. 09 0. 09 PA-1000
— 12FEEEERN) — 0. 08 0. 08 PA-1000
2715(%) M IFHE(EBA) — 0. 08 0. 08 PA-1000
SEE (B — 0. 07 0. 07 PA-1000
%gﬂzfiémb%?ﬁ(i) 0. 11 0. 11 — PA-1000
Qs 0.13 0. 13 — PA-1000
1y rea | ERIER 0.12 0. 11 — PA-1000
271200) BN o e 0. 39 0. 34 — PA-1000
O EILER 0.12 0.12 — PA-1000
BRERE 0.15 0.15 — PA-1000
%%%qﬂﬁﬁﬁ(i) 0. 10 0. 10 — PA-1000
Q5 0.12 0. 13 — PA-1000
=, |QOKERES 0.10 0. 10 — PA-1000
1721(R) B 10 e 0. 21 0. 24 — PA-1000
GOREILER 0. 14 0.12 — PA-1000
O BEFEE 0.15 0.15 — PA-1000
1FREE(BRA) — 0.10 0.10 PA-1000
ERR254 QFAE(BA) — 0. 10 0. 09 PA-1000
1.718(&) BN [3F%=E(BRA) — 0. 09 0. 07 PA-1000
FEEERN) — 0. 08 0. 07 PA-1000
16/24 (F54)



BKANERICE T HBSIRERERLR

ek : ;F/K A 2-3-1

TRE244EE
e . BIEE (A0S —XN)LNER) .
"E' A - I Al =1 ,ii“ / ==
bl ]E 9&1; /,EIITE ﬁ’, =0 500m 100em /EIIE% ﬁ%%
1FEE(BN) — 0. 09 0. 08 PA-1000
FHE(BA) — 0.10 0. 09 PA-1000
1214(%) BN
" lFrz EME(BA) — 0. 09 0. 09 PA-1000
AREEERN) — 0. 08 0. 08 PA-1000
Ot hLER (L) 0. 11 0.12 — PA-1000
Q15 0.13 0. 14 — PA-1000
QO ERER 0.12 0.13 — PA-1000
12710(8) Bh ==
A T 0. 13 0 14 — PA—1000
O EALER 0.15 0. 15 — PA-1000
O EFER 0.16 0. 15 — PA-1000
1F&EZE (BA) — 0. 09 0.10 PA-1000
FHE(BA) — 0. 09 0.10 PA-1000
1M/16(2) Bh
R lsFmE (BMW) — 0. 07 0. 09 PA-1000
AEEE(EBRN) — 0. 07 0. 07 PA-1000
Ot hLER (1) 0.12 0.13 — PA-1000
Qb5 0. 15 0. 14 — PA-1000
QR ERER 0. 11 0. 11 — PA-1000
11.714(K) Bh =
B T 0. 19 0 17 — PA—1000
ORREEALER 0. 10 0.13 — PA-1000
@®REEFER 0. 14 0. 15 — PA-1000
1FFERE(BWN) —_ 0. 09 0. 08 PA-1000
FHE(BR) — 0. 07 0. 08 PA-1000
10716 (k) EEL
" lsrm=z (BW) — 0. 09 0. 08 PA-1000
ARBEEERN — 0. 07 0. 07 PA-1000

17/24 (754)



BKANERICE T HBSIRERERLR

A JEk O 2-3-1

SRR 245E
) . BIEIE (A0S —N)LER) .
Al H -4 B #b &S 4 SHIE
/E]EE 9&1; /,E‘IITEHE,.“ 5em 50cm 100cm /EIIE% ﬁ%%
Ot ehER (1) 0. 11 0.12 — PA-1000
Qs 0.12 0.13 — PA-1000
QR RErAER 0. 09 0.12 — PA-1000
1ls =3
1078040 B | R 0. 21 0. 20 — PA-1000
OREEILER 0. 20 0.18 — PA-1000
E©REFEE 0.13 0.14 — PA-1000
IFREE(EWN) — 0. 07 0. 08 PA-1000
Ly rese IRFEEER) — 0. 07 0. 07 PA-1000
9/18(X) HEnL FHE(BM) — 0. 07 0. 07 PA-1000
ARBEEN) — 0. 05 0. 07 PA-1000
Dt ehHER (1) 0.12 0.12 — PA-1000
Qs 0. 16 0. 15 — PA-1000
QR RERIED 0. 11 0. 11 — PA-1000
£
SR B | R 0. 22 0. 20 — PA-1000
OREEILER 0.13 0. 11 — PA-1000
©EEFER 0.13 0.13 — PA-1000
1IFE=E(BA) — 0. 09 0. 08 PA-1000
Ly rese IRFEEER) — 0. 09 0. 08 PA-1000
8/14CK) HhL SFHE (BR) — 0. 08 0. 09 PA-1000
ABEEN) — 0. 06 0. 07 PA-1000
Dt chER (1) 0.12 0.13 — PA-1000
Q15 0. 15 0. 15 — PA-1000
QR RERIER 0.13 0.12 — PA-1000
==
80K B I 0. 21 0. 20 — PA-1000
OREEILER 0.18 0.15 — PA-1000
O 0.15 0.14 — PA-1000
18/24 (754)



BKANERICE T HBSIRERERLR

A JEk O 2-3-1

JRR24%EE
_ . BAIEE (X470 —N)LNER) .
;’I : I ;\I i 5‘\\ b Ir—'ﬂ
8% B - X% Bl 7E 1t Sem 500 1006 Bl E 25 eSS
IFREZE(EN) — 0. 09 0. 08 PA-1000
- 2FHE(EA) — 0. 08 0. 08 PA-1000
1713(&) =t
/13(&) EY IFHE(BMA) — 0. 08 0. 08 PA-1000
ARBEEEN) — 0. 07 0. 06 PA-1000
Dt chHER (1) 0.12 0.12 — PA-1000
Qs 0.13 0.14 — PA-1000
QR RErAER 0.13 0.12 — PA-1000
7100K) W
1000 B I Ew 0. 22 0. 22 — PA-1000
OREEILER 0. 15 0. 14 — PA-1000
©EEFER 0.15 0.16 — PA-1000
IFREE (BEWN) — 0. 09 0. 09 PA-1000
QFHE(BMA) — 0. 09 0. 08 PA-1000
6,720 (=5
7200K) #h FHE(BM) — 0. 07 0. 08 PA-1000
ARBEEN) — 0. 06 0. 06 PA-1000
Dt ehHER (1) 0.12 0.13 — PA-1000
@rhi% 0. 15 0. 15 — PA-1000
QR RERIER 0. 14 0.12 — PA-1000
6./15(&)
(&) B0 onmam 0. 24 0. 23 — PA-1000
OREILER 0.13 0.14 — PA-1000
O RETEER 0. 15 0.15 — PA-1000
1FREE(BN) — 0.10 0.10 PA-1000
- 2FHE(EBA) — 0. 09 0. 09 PA-1000
5,21 21l
<21(R) &Y SFHE (BR) — 0. 08 0. 08 PA-1000
ABEEN) — 0. 07 0. 07 PA-1000

19/24 (754)



BKANERICE T HBSIRERERLR

A JEk O 2-3-1

JLRE 23~ 244F FE
) . BIEIE (A0S —N)LER) .
Al H -4 B #b &S 4 SHIE
/E]EE 9&1; /,E‘IITEHE,.“ 5em 50cm 100cm /EIIE% ﬁ%%
Ot ehER (1) 0.13 0. 15 — PA-1000
Qs 0.13 0.14 — PA-1000
QR RErAER 0.13 0.14 — PA-1000
E
SR B | 0. 14 0.13 — PA-1000
OREEILER 0. 11 0. 14 — PA-1000
E©REFEE 0.16 0.16 — PA-1000
IFREE(EWN) — 0.10 0.10 PA-1000
QFHE(EBA) — 0. 09 0. 09 PA-1000
IFHE(BMA) — 0. 08 0. 09 PA-1000
ARBEEN) — 0. 06 0. 07 PA-1000
= |D#thbLE (L) 0. 16 0. 16 — PA-1000
=l
47190 &Y @rhi% 0.14 0.14 — PA-1000
QR RERIED 0. 15 0.15 — PA-1000
DR RERER 0. 25 0. 25 — PA-1000
OREEILER 0.14 0. 15 — PA-1000
©EEFER 0.17 0.17 — PA-1000
IFREE (BEWN) — 0. 09 0. 08 PA-1000
.. [2F&=E(BR) — 0. 09 0. 08 PA-1000
3/19(R) HEh SFHE (BR) — 0. 09 0. 09 PA-1000
ABEEN) — 0. 07 0. 07 PA-1000
Dt chER (1) 0.17 0. 16 — PA-1000
Qw5 0.13 0. 15 — PA-1000
QR RERIER 0. 15 0.14 — PA-1000
=
SR B IR 0. 29 0. 23 — PA-1000
OREEILER 0.16 0.14 — PA-1000
O 0.17 0.17 — PA-1000
20/24 (754)



BKANERICE T HBSIRERERLR

A JEk O 2-3-1

JRR234ERE
_ . BAIEE (X470 —N)LNER) .
i PN AEH R AE
8% B - X% Bl 7E 1t Sem 500 1006 Bl E 25 eSS
1IFR=E(BRA) — 0. 08 0. 08 PA-1000
QFHE(BA) — 0. 08 0. 08 PA-1000
17(£) B
2/17(%) BN IFHE (BM) — 0. 08 0. 08 PA-1000
ARBEEEN) — 0. 07 0. 07 PA-1000
Dt chHER (1) — 0.18 0. 16 PA-1000
Qs 0.16 0.17 — PA-1000
= |®REREE — 0. 15 — PA-1000
2713 =L

(R) &Y DR RERER — 0. 26 — PA-1000
OREEILER — 0. 22 — PA-1000
©EEFER — 0. 22 — PA-1000
O ER (1) — 0. 16 0.17 PA-1000
Qs 0. 14 0. 16 — PA-1000

= |®REREE — 0.14 — PA-1000
1723 =L -

(R) &Y DR RERER — 0.18 — PA-1000
OREEILER — 0.17 — PA-1000
©EEFER — 0.18 — PA-1000

- IFRE=(BR) — 0. 09 0.10 PA-1000
1/145&2;@&%#@ FEEE(EN) — 0. 08 0. 09 PA-1000
SFRE(BN) — 0. 08 0. 09 PA-1000
b ER (L) — 0.18 0.16 PA-1000
127200K) BEN |RbiS 0.13 — — PA-1000
B¢ ERIE — 0. 39 — PA-1000
IFREE (BEWN) — 0. 09 — PA-1000
FEEE(BA) — 0. 07 — PA-1000

12715 i3 =

(R) Hn FHE(BM) — 0. 08 — PA-1000
ABEEN) — 0. 06 — PA-1000
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FRR234EFE
O — BIEME (/0> —N)LAER) e
/E“EE iﬂ; /,E‘IIITEHEEE\\ o 500m 100em /EIIIE% ﬁ%%
1FHZE (BN) — 0. 09 — PA-1000
2QFHZE (BA) — 0. 08 — PA-1000
FHE (BA) — 0. 08 — PA-1000
11.7220K) Bh |hEE(BA) — 0. 07 — PA-1000
BEI sk S — 0. 41 — PA-1000
BERBERE THR — 0. 29 — PA-1000
BEREEY BT BEE — 0. 20 — PA-1000
1114(8) BY Pt oDV ER (£) — 0.16 0. 16 PA-1000
b5 0.17 — — PA-1000
1026(K) EER Bt ER (L) — 0.18 0.17 PA-1000
b5 0.17 — — PA-1000
IFH=E(BRA) — 0. 09 — PA-1000
2QFHZE (BA) — 0. 08 — PA-1000
FHE (BA) — 0. 08 — PA-1000
KEEEN) — 0. 08 — PA-1000
10720(K) EY |#RERAIE — 0.19 — PA-1000
BE — 0. 20 — PA-1000
AmEL — 0.19 — PA-1000
Hih — 0. 25 — PA-1000
IEFIHE RIS — 0.17 — PA-1000
10/190K) BY Pt L ER (£) — 0. 20 0.19 PA-1000
i5 0.15 — — PA-1000
10120K) B Bt ER (L) — 0. 20 0.18 PA-1000
] 0.19 — — PA-1000
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S k234
:ﬁl AP )Tf
Hi=H - I &5 4 ITE[_(_‘?'fgl:l/ /\)l/[\ﬁ .) | ==

= (EBthDER (L) — 0.19 0.19 PA-1000

1076 (K) =Y
i 0.17 — — PA-1000
i ER(E) — 0. 20 0.18 PA-1000

0.-280k) Heh |2

5 0.15 — — PA-1000
=, |BthfbER(E) — 0.17 0.17 PA-1000

=l
9/ 2(x) &Y Rhig 0.17 — — PA-1000
1FEEERN) — 0. 09 — PA-1000
FEE(BA) — 0. 08 — PA-1000
IFHE(EA) — 0. 08 — PA-1000
HREEERN — 0. 09 — PA-1000
9.7200:K) =Y |HEMRAIE — 0. 22 — PA-1000
B — 0. 23 — PA-1000
AmEL — 0. 21 — PA-1000
Hih — 0. 25 — PA-1000
1E PRt {AE — 0. 26 — PA-1000
+ O ER () — 0.19 0. 18 PA-1000
9714(Kk) Bh Wis 513 — — 5AZ1000
+ O ER () — 0.19 0.19 PA-1000
/70K IRh 5 017 — — PA-1000
bbb ER (£) — 0. 21 0. 22 PA-1000
b5 0.18 — — PA-1000
Wy RE 1FEE (BA) — 0. 08 — PA-1000
87300K) HM FHRE(BH) — 0. 08 — PA-1000
SFAE(EA) — 0. 08 — PA-1000
AEEER) — 0. 09 — PA-1000
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TRE234EE
. . BIEE (A0S —XN)LNER) .
BIFE R - KA A TE Hh B - BIE
/E]E H 9&1; /,EIITE ﬁ’, =0 500m 100em /EI}E% ﬁ%%
o iER () — 0. 21 0. 20 PA-1000
8./24 i3
k) Wn i5 0 14 — — PA-1000
o iER () — 0. 24 0. 23 PA-1000
817 i3
k) Wn i5 0 14 — — PA-1000
o ER () — 0. 20 0. 20 PA-1000
8./10 i3
k) Wn i5 0.16 — — PA-1000
= EhhiER (L) — 0. 21 0. 20 PA-1000
8.3 =l
oK) &Y Fibi5 0.22 — — PA-1000
- EhhiER () — 0. 20 0. 20 PA-1000
7.7217 £l
72710K) &Y fhi5 0.18 — — PA-1000
— — -
7200k) BY ﬁi’;qﬂtunﬂ(i) — 0.19 0.19 Ei 1288
>4 . J— R —
77120K) Bh |ButhdgibER (1) — 0. 29 0. 30 RDS-30
7/50K) Y |EhdbER (L) — 0. 21 0. 21 RDS-30
6.728(:K) =Y |EuhgbE (L) — 0. 23 0. 21 RDS-30
— -
621 (k) 2 fﬁ;qﬂtunﬂ(:t) 0—17 0. 24 0. 25 Egz gg
>4 . J— P —
T 234 b ER (L) — 0. 28 0. 20 RDS-30
6.714(K) Y i3 0. 25 — — RDS-30
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